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The changes that were going on represent a crucial stage in the development of capitalism. This is a system of private enterprise, or free enterprise. People are free to obey the law of supply and demand, and people make money for themselves. The law of supply and demand-when goods and labor are scarce, prices rise, when they are plentiful, they fall. In the Middle Ages, capitalistic enterprise wasn’t widespread because the market was restricted. The majority of people were farmers. There was some trade in Italy, where capitalistic enterprise was conducted, but that wasn’t much throughout Europe. In the cities, capitalism was limited by guild restrictions. But conditions changed beginning in the 15th and 16th centuries, generating the incentive to invest. This process was due to the economic situation in Europe between 1450 and 1600. Several conditions sustained the incentive to invest. One was the price revolution stemming from a supply of commodities that could not keep pace with demand. Prices continued to climb, creating the most powerful incentive to invest rather than to consume. Why spend when investment is almost certain to be more profitable? The price revolution reduced the risk involved in investment. Another condition was that wealth was distributed in a way of promoting investment. Three patterns of distribution worked to this effect. First, inflation widened the gap between the rich and the poor. More people with less jobs meant employers could pay less and gain more. Merchant-capitalists gained from these factors. As they grew, they were able to exercise an influence in the marketplace because they operated on a large scale, and were able to dictate terms of production and employment, displacing local guilds. The displacement was another factor in the distribution favorable to investment. Mercantile capitalism produced inequities between the rich and poor. The second practice grew out of primogeniture. The property in the hands of the oldest son meant that he had wealth, and would invest at least part of it. Any younger sons were left to make their own way and turned their drive and ambition into profit. Finally, a pattern of international distribution of wealth promoted investment in some lands. Spain in the 16th century devoted itself to religious war and empire and relied on producers elsewhere for its supplies. So Spanish treasure was given to England to pay for imports, stimulating investment there rather than Spain. Capitalism did not develop everywhere at the same pace, and they very conditions that discouraged it in one place encouraged it somewhere else. Two additional incentives came from governments. First, governments acted as huge consumers. Merchants not only prospered from selling everything, but reinvested because of the constancy and growth of government demand. Governments also sponsored new forms of investment. Moreover, private investors reaped huge advantages from overseas empires. Colonies supplied cheap raw materials and cheap labor and served as markets for exports. This stimulated the construction of ships and the sale of insurance. The second incentive comprised state policies meant to increase investment. These policies constitute mercantilism: the conscious pursuit by governments of the courses of action supposed to increase national wealth and power. One characteristic of this was pursuit of a favorable balance of international payments. Wealth from trade was measured in gold and silver. The state’s goal became to sell more abroad than it bought. When the amount received for sales was greater than spent, the difference would be an influx of precious metals into the state. By this logic, mercantilists were led to argue for the goal of national sufficiency. This argument ignored the fact that the more a country buys the more it can sell because its purchases create purchasing power. Mercantilism had a positive side. Governments increased economic activity, and attempted to create national markets and internal economic unity. The English saw the mercantilistic calculations of national wealth should be made in the long run. Thomas Mun (1571-1641) argued that a country might import more than it exported in the short run and still come out ahead because raw materials that are imported and then reprocessed for export would yield a handsome profit. Mun was one of the first do discern the virtues of consumerism, a phenomenon that is important for achieving sustained economic growth. He maintained that the more English merchants did to advertise English goods to potential customers, the greater the market for those goods would be. Demand can be created. Between 1660 and 1750, England became the world’s first consumer society: more people had more money to spend, and they acquired a taste for conspicuous consumption. Concomitantly the stronger the stimulus to buy, the harder the consumer worked, which induced more growth. The price revolution, the concentration of wealth in private hands, and government activity combined to provide the foundation for investment and for the emergence of mercantile capitalism. Mercantile capitalism paved the way for England’s Industrial Revolution. Populations in Spain began to decline by the 1590’s, and by the 2nd quarter of the 17th century, it was declining throughout Europe. This came about because during the price revolution, demand outran supply, prices rose, and wages fell. The diet of the masses deteriorated. Bad harvests produced massive famines, and cities became unsanitary. When plague struck, it attacked a weakened populace. Finally, there was the Thirty Years’ War (1618-1648), which ravaged the Holy Roman Empire and reduced its population by at least 1/3rd. Because of these events, prices fell, and there was economic dislocation. The new Atlantic powers responded in a way that would lead to their recovery. English and French farmers turned to enclosure and the Dutch technique of convertible husbandry. Initially, these efforts were to compensate for falling prices. Over the long run, they had the effect of increasing production and sustaining a growing population. By the 2nd quarter of the 18th century, the population was growing again. The food supply tended to keep pace with rising demand, and so did the prices, and so the prices stabilized and even declined. This had enormous impact on the history of England and France. At last, enough was produced to feed a growing population without a price increase. Less income would have to be spent on food at a time when income was rising because of expanded production for the needs of a growing population. Many peasants could for the first time produce a surplus for market. Greater production meant higher income. The largest farmers did not benefit unless they were also landlords. Second, the landlords’ income increased. They had land to rent to the growing number of farmers whose mounting profits enabled them to pay higher rents. This was prevalent in France. There, enclosure and primogeniture were not widespread, and inherited land was divided up, a practice called partible inheritance. As a result, because of population growth, more peasants sought a livelihood from the soil. Third, there was a growth in the income of everyone whose earnings exceeded the price of bread. Thus, the agronomy produced a situation in which more people had more to spend or invest. The increasing income manifested itself in rising demand. This demand was one of the basic preconditions for the Industrial Revolution, particularly in England. Before, a large-scale industry could come into being, there had to be a market for its products. In the process of industrializing, England gained the advantage over France because of its different agricultural patterns. Beginning in the 1780’s French agriculture could not sustain the pattern that it shared with England in the 1730’s. By the 1780’s, too many people were living on the land in France to allow adequate surpluses when there was a poor harvest. At such times, peasants produced only enough to feed themselves. Peasant incomes shark from the lack of surplus. Partible inheritance slowed industrial development.


